
Table_2p / x

p = 2 3 5 7 13 17 19 31

2p 

2p / x 4 8 32 128 8192 131072 524288 2147483648

2

x

2 2 4 16 64 4096 65536 262144 1073741824
3 4 1.0000000000 2 8 32 2048 32768 131072 536870912
5 16 0.2500000000 0.5000000000 2 8 512 8192 32768 134217728
7 64 0.0625000000 0.1250000000 0.5000000000 2 128 2048 8192 33554432

13 4096 0.0009765625 0.0019531250 0.0078125000 0.0312500000 2 32 128 524288
17 65536 0.0000610352 0.0001220703 0.0004882813 0.0019531250 0.1250000000 2 8 32768
19 262144 0.0000152588 0.0000305176 0.0001220703 0.0004882813 0.0312500000 0.5000000000 2 8192
31 1073741824 0.0000000037 0.0000000075 0.0000000298 0.0000001192 0.0000076294 0.0001220703 0.0004882813 2

Table : 2p / x Every p_value overlaps with at least one other p_value.  A DIAGONAL Symmetry abounds about “2” value. 
The product of the opposite COLORS = 4.                    Copyright©2021, Reginald Brooks, Brooks Design. All rights reserved.  


